Day 2

-
Lammle, 125

Housekeeping:  Did everyone sign up for two, 2 hour labs a week?  They will start next Wednesday evening, September 5th

http://www.csgtraining.aa.psiweb.com/homework.shtml

Homework  (prioritized - do in order)

1.  Carefully go over the practice exercises in Lammle, pages 136-156.  Do the written exercises in Lammle, pages 158-9

2.  Building Scalable Cisco Networks (hereafter referred to as BSCN), pages 65-95, 577-588  

Do as many of the exercises as you can on pages 93-95, 587.  Especially note page 67 "ip subnet-zero"  -  IOS versions before 12.x   # of subnets = 2n -2; after 12.x # of subnets = 2n

3.  Routing TCP/IP Volume I (hereafter referred to Doyle, pages 40-63)

Goals for today's class (Mastery)  -  When you leave, you should be able to answer the following questions:

http://www.csgtraining.aa.psiweb.com/rpi/igrp/

What is routing?

What is an ip address?

ip packet or digital envelope

dotted decimal notation

source address

destination address

network address

node or host address

broadcast address

routing tables

What is subnetting, supernetting?

Fill out www.csgtraining.aa.psiweb.com/homework.shtml
How many hours, minutes did you spend reading?  How many pages did you cover?  What percentage did you understand? What did you understand?  What was confusing?  Did you spend time practicing subnetting?  Did you spend hands on time in the routers?  What, if any, problems did you encounter?

What happens when you type in your browser, www.yahoo.com as a way of answering the questions posed above.

do an "ipconfig" or "winipcfg" on your machine.  "Traceroute"  "ping" 

Hierarchical nature of routing:  Leaf POP, Region Core, Super Core, Tier 0

Post Office analogy

Subnetting:  4.3 billion possible hosts

big cheese, moderate size cheese, manageable size cheese

Base 2 numbers

Excel spreadsheet

octets

Memorize:

00000000 = 0

10000000 = 128

11000000 = 192

11100000 = 224

11110000 = 240

11111000 = 248

11111100 = 252

11111110 = 254

11111111 = 255

can't have 4 billion entries in a routing table or it will take too long to process packets.  must combine host address into network addresses

CLASS A, B, C network numbers

Class A
-
Network.Host.Host.Host


1st octet 0

Class B
-
Network.Network.Host.Host

1st octet 10

Class C
- 
Network.Network.Network.Host
1st octet 110

Who passes out IP addresses?

http://www.arin.net/
American Registry for Internet Numbers

http://www.arin.net/whois/index.html
These are delegated to ISPs (Internet Service Providers) who delegate them to customers

lookup:   38.0.0.0    43.0.0.0  65.0.0.0

How do you determine the:

network address

broadcast address

first host address

last host address

Class A Address
default mask 255.0.0.0  /8

38.0.0.0

38.255.255.255

38.0.0.1

38.255.255.254

Class B Address
default mask 255.255.0.0  /16

131.4.0.0

131.4.255.255

131.4.0.1

131.4.255.254

Class C Address
default mask 255.255.255.0  /24

202.156.184.0

202.156.184.255

202.156.184.1

202.156.184.254

Why subnet?

1.  allow more users/conserve IP addresses

2.  create smaller broadcast domains

Given a certain IP address and subnet mask, how do we find the network and the broadcast address?  The first host and last host in the subnet?  How many subnets and how many hosts per subnet?

256 - subnet = base number

http://www.csgtraining.aa.psiweb.com/davidkotfila.shtml

